Ответы контрольной работы по химии, 9 класс



	Задания
	1
	2
	3
	4
	5
	6
	7
	8

	I вариант
	3
	1
	2
	3
	4
	4
	35
	4526

	II вариант
	2
	3
	4
	2
	3
	3
	14
	4563




Задание 9 (I вариант)

1) BaO+HzO--•Ba(OH)z

2) Ba(OH)z+  СОН --• BaCOз+HzO

3) ВаСОз+ 2HCl--• BaClz+COM+HzO

Задание 10 (I вариант)

1) [image: ][image: ][image: ]2Al+6HClm2AlClз+3Из 2) n(Al)=10,8/27=0.4 моль






Задание 9 (II вариант)
[image: ]
2) COM+2NaOH--•NazCOз+ HzO

3) NazCOз+CaClz--•CaCOз+2NaCl


Заданиеl0  (II вариант)

1)  MgO+HзSO4  MgSO4+HзO
[image: ][image: ][image: ][image: ]
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N(MgS04)=n(Mg0O)=0,5 MoJIb
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M(MgS04)=0,5%120=60 1
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3) ® (MgS04)=56,4/60%*100%=94%
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n(H»)=0,4*3/2= 0,6 M0JIb
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V(H2)= 0,6 *22.4=13.44 n
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3) d(H2)=12,8/13,44*100%=95%
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1) C+O,—CO;
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2) n(Mg0O)=20/40= 0,5 moab




